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There are 30 questions in this section. Answer all of them. For each question, four

options are given. One of them is the correct angwer. Make your choice (1, 2, 3 or 4).

Shade the correct oval on the Optical Answer Sheet (OAS).

1. The following animals had been classified into 3 groups.

Animals
- ‘chicken crocodile
eagle goldfish

turkey snake

They were grouped according to

(1) their habitat
(2) the food they eat
(3) the way they breathe

(4) their outer body covering
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Which one of the following is made from things that were once alivé?

(1) A metal ruler
(2) A plastic pail
(3) An exercise book

{4) A diamond pendant

The tabie below shows some characteristics of 4 different types of plants.

i Type of Stem Flowers
Plants Woody Non-woody Flowering ( Non-flowering
Q v X X N
R v X v o X
S X v o v X
T X v X v

Which ene of the following statements is true?

(1) Plant T has a weak stem and bears fruits. -
(2) Plant S has a layer of bark surrounding its trunk.

(3) Plant R has a strong stem and it reproduces from seeds

(4) Plant Q needs to cling onto a support to hold itself up and does not have
flowers.
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4. If you observe a piece of mouidy bread carefully with a magnifying glass, you
will be able to see structure X, as shown in the diagram betow, growing on it.

bread

Which of the following about Structure X is correct?

rMethod of Reproduction . Method of Dispersal
(1) By polien grains By water
(2) By seeds By animals
(3) J By spores By wind
(4) . By seeds By splitting action

5. Which of the following is not-a result of the rotation of the earth?
(1} An owl hunting for food.
(2) Turning on the television.
(3) Solar energy used in the calculators.

(4) Plant making food in the process called photosynthesis.

6. The part of a plant cell that supports the cell, giving it a regular shape and
holding it together with other plant cells is known as the _ _

(1) nucleus (2) cell wali

(3) cytoplasm (4) cell membrane
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7.

The diagram below shows the flower of a plant.

Which part of the flower will become the fruit?
M A
(2) B
3) C
(4) D

Jane cut a potato into 4 pieces, A, B8, C and D. She placed the pieces on a plate
containing some water and left them in a dark room. A week (ater, she found
shoots growing out of A, B and C but there were no shoots on @ What is the
likely reason for her observation?

(1) There were no buds on D.

(2)  There was not enough water.

(3) D did not get enough sunlight.

(4) A, B and C had more mineral salts than D.
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9. The diagram below shows the lifeé cycle of a cockroach.

Which of the following inferenca(s) can we make-based on the diagram?
A. A cockroach lays its eggs in an egg case.
B. The life cycle of the cockroach consists of 2 stages.

C. Both the nymph and the adult cockroach eat the same food.

(1) Aonly
{2) AandBonly
(3) BandC only

(4) A BandC
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10. The diagrams below show the steps taken to measure the volumes of a stone
and a piece of styrofoam.

thread
measuring ——— ( ) [ ) [
cylinder styrotoam|
piece soems = g0cm®
500"‘3 -. )- :. '.
water _T: s - "D 2y x— stone

777777 f// T777 7771 777777777 777777777777
Step One Step Two Step Three

Which one of the following is the correct set of volumes for the stone and the

styrofoam?
i Volume of stone (cm?) Volume of styrofoam (cm?)
(1) 80 90
2) 80 10
(3) ‘ 50 40
(4) 30 10

6 /34



11. Pure water can be obtained from the set-up below.
Study the set-up carefully.

Pis-ﬁ!!otiom

condenser

~~

4 . S
cooling ¥
T

water ot & Q-fa

. _r

cooling i:,— .

ateriin S ¥ ¢

/o

mixwure ol @.ﬁm‘,« Pure
. " Sty b

heat salt and water ln. water

What is the function of the condenser?
It

(1) removes all the salt.
(2) changes a hquid to a gas.
(3) changes a gas to a liquid.

(4) changes salt water to pure water.
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12. The graph below shows Singapore’s watar consumption over the years.

Million cubic metre

400 o .

350‘__16{;%',_“;. “r%’f -

00 1014 CONSUMplion
. ‘ I

2 ]

1 ‘ S s I . ==

0T |__ . __Non-domestic| |
Q. i R RS ST »
1985 1986 1987 1988 1980 1990 1991 1992 1993 1994 Year

Study the graph carefully. Which of the following statement(s) is /are true?
A. Singapore’'s water consumption increased from 1985 to 1994.

B. Curve C is obtained by adding the amount of water used
for domestic and non-domestic purposes.

C. Water consumption remained constant between 1985 and 1986.

D. More water is used for non-domestic purposes.

(1) Aonly
(2) Conly
(3) A, BandC only

(4) A B,CandD

8 /34




13. Jermry set up a circuit as shown below.

—- battery
holder

714

This is an open circuit because the

A. filament in the bulb is broken

8. dry cells are wrongly arranged
C. switch is not in the “on” position
D

battery holder is made from an insulating material with metal spring
and plate

(1) Aand Bonly
(2) A and D only
(3) B, C and D only

(4) All of the above
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14. The diagrams below show a circuit card and a circuit tester.

[ paper

[

E—

=Js
<ID

Circuit card

The circuit card has connection points made of metal clips A, B, C, D and E.
All the wires are hidden behind the circuit card. Xueli connected the circuit

butb

— battery

Circuit

card to the circuit tester and recorded her findings in the table below.

Cljp tested Bulb lights up Buib does not light up
JA&B" v
A&C v
tA&D v
_{B&Dy v
B&E v
C&ET v
D&E v
Based on Xueli's findings, which one of the following circuit card was the one
she tested? (- - - - represents the hidden wire)
(1) [ paper card (2) - [—Paper card
l | I
A= T =] 8 A > '''''''' =8
[ <do [ . r': D
E[== E—>""
(3) (—paper card 4) [ paper card
| l | |
A- ‘‘‘‘‘‘‘‘ A -~
: =8 = =ﬂl B
c[=> ~eo c= e
7 =] p I
ECS eSS

10 /34

7O



15. The apparatus shown below can be used to illustrate the action of breathing of
a human body.

16.

(1)
(2)
(3

bell jar
tube

—- balloon

~— gheet of rubber

dgrhraj Y-
Which pafts of the human body do the labelled structures represent?
|  Balloon Tube Bell jar
lungs windpipe diaphragm
lungs air tubes rib cage
lungs air tubes diaphragm
lungs windpipe ribcage

(4)

The diagram below shows the human digestive system.

Identify the part(s) where the digested food goes into the circulatory system.

(1) Y only

(2) Y and Z only

(3) W and X only

(4) None of the above
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17. Lilian observed a watermelon and recorded the information below.

Big and round Smooth and green skin

| Sweet and juicy flesh

Smetis good Many small seeds

How many senses did Lilian use in making her observation?
(1) 5 (2) 2
(3) 3 (4) 4

18. A joint is a place where two bones meet.The diagram below shows the human
skeleton.

Which pair of the statements below describe the function of joints M and N

correctly?
| M N
(1) | Allows movement in more than one | Allows movement in more than one
direction direction

(2) | Allows movement in one direction Allows movement in more than one
direction

(3) | Allows movement in more than one | Allows movement in one direction
direction

(4) | Allows movement in one direction Allows movement in one direction
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19. Jane painted the surfaces of the leaves of a plant with thick paint and keft it in
the garden. A few days later, ¢ plant died because it did not have

A. water

B. oxygen

C. nutrients

D. carbon dioxide
(1) AandC only (2) B8 and Donly:
(3) A, Band Conly (4) A,B . CandD

20. The diagram below shows a bottle-opener that makes use, of the principle of the
lever to work.

bottle cap

bottie-opener
.~ handie

The posttion of the fulerum is at

(1) A B

3) C (4) D -

13/34
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21. Alfred carried out an experiment to determine the effects that different weights
have on a spring. Below is a line graph that was plottad after the experiment.

500
Weights (g) 300

100

¢

Length of spring (cm)

What can Alfred conclude from the line graph above?
A. The spring has an initial length of 10cm.
B. When 300g is added to the spring, the extension of the spring is 25cm.

C. Doubling the weights will double the tength of the spring from point W
toY.

D. The length of the spring is no ionger proportional to the weights added
after point Y

(1) A and B only
(2) B, C and D only
(3) A,CandDonly -

(4) A B,CandD
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22. Jenny wanted to play seesaw with her younger brother, Jim. Which picture
below shows the best way for Jenny, who weighed 60kg. to balance Jim, who
weighed 30kg?

(1)

)

(3)

(4)
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23. Each magnet has a north pole and a south pole. The magnetic field lines
between the poles of magnets are shown below.

-~ PR o - - Pl 2NN - - .
\. . 7z \. =
- > R — s . - il - . -— . . - - .
o V- . N Ny * e N ;
.\» 4'4\ ‘. AL / ), N ), -\'» 5,
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Il < ML -
P s 5 N 5| N §7%s N
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e ~ iR ' -—e -7 i A - et - — - H
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A series of magnets showing the magnetic field lines between the magnets is

shown below. The poles of only one magnet are labetled.

, . ,
P T T
y Ny
__k._\”,'ﬁ(
! N ‘4
p A
' ~
AY
~ - ]
7
e
- -

What are the poles of the magnets at X and Y?

(1)

()

3)

(4)

Z Z|] o0 mniXx

w zZ Z n|<
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24. Jane constructed 4

25.

below.
'mngspan
T
E 2
[ |
Model A Model B

top views

model planes A, B, C and D as shown in the diagrams

Mo&el (3

In order to carry out a fair test, which of the 4 planes shouid she use to test the
effect of wingspan on the distance the planes trayelled.

(1) A and D only

(3) C and D only

Study the classification table below.

(2) B and C only

(4) A, C and D only

A
[ |
Living things Non-living things
(
i | | |
Ptants Animals B Air Soil Minerals
Which do the tetters A and B represent?
A B

(1) l natural resources water
(2) | man-made resources coal
(3) natural resources natural gas
(4) natural resources fungi |
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26. Study the two pie charts carefully.

N 0.03%
' carbon
1% rare dioxide

gases

Figure 1: Composition of inhaled air

.- water vapour

- 48

: carbon
1% rare dioxide
gases

Figure 2: Composttion of exhaled air

Based on the two pie charts above, we can conclude that
A. inhaled air has more oxygen.
B. exhaled air has more water vapour. '
C. exhaled air has more carbon dioxide.
D. inhaled air is of a lower temperature than exhaled air.
(1) Aand D only (2) B and D only

(3) A, Band C only - (4) A, B, CandD.

27. ~hotosvnthesis ‘can be summarized in a simpie word equation as follows:-

A]+ B

light energy from the sun C + D

—
>

Which of the following do the letters A, B, C and D correctly represent?

A 8 C D
(1) Oxygen Glucose Water Carbon dioxide
(2) Carbén dioxide Water Glucose I Oxygen
(3) Water Oxygen Starch Carbon dioxide
(4) | Carbon dioxide Water Oxygen Starch
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28. Amy placed a stick upright in the ground and traced the shadow made by the
stick every 2 hours from 8 am to 4 pm. The diagram below shows the stick and
the tracings of the shadows as seen from above.

== PN

coay /.

4pm 2pm Noon J0an 8 am

W .,
\:A . K*h uncing of shadow
stsck

hopscotch game --——
A

rubbish bin

o 7

Which object isInorth- east/from the stick?
(1) the box (2) the seat
(3) the rubbish bin (4) the hopscotch game

29. Sally used 3 boards which has the same shape as the one below, to
demonstrate that light travels in a straight line.

o— hole

To carry out her expenment, Sally, must

A. use boards of the same size.
R use boards made of transparent material.
C. ensure all the three holes are in a straight line.

B. place a light source or an object at one end of the three

boards.
(1) A and B only (2) B and C only
{3) C and D only (4) B, C and D only
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Five similar paper cups of different colours, white, yellow, red, green and black
were left in a sunny place for 4 hours. A sample of the cup used for the
investigation is shown below

thermometer

\\ lid of coloured paper

coloured paper
paper clip

Below is a graph showing the temperature in each cup at different times.

45 biack
40 .|
S . |
~ 2 L green :
g 304 roed
T emees vellow
o 925 - - :
= et o= ==~ white
L& - |
_ t
5 Foo .
|
I(’ ¥ L ) T l L SAma L\l : 1
4

0 ! b4 3

Tine (hours)

Based on the readings, which of the colours below are better suited for the
purpose shown?

For clothings on hot days | For solar water heaters
(1) green red
(2) yellow red
3) green yellow
{4) yellow green

20 134



Name:

SECTION,.B (40 marks)

There are 16 questions in this section. Answer ail of them. Write your answers in the
spaces provided.

31.

-

Study the table below carefully.
Material

Properties A B

conducts electricity and heat yes no

shiny surface yes no
brittle no yes

attracted to magnets no no
transparent no yes

(a) Name the material that A is likely to be.

(1)

(b) Based on your answer in (a) above. state one of the uses of A.

(1)

(c) From the table above, choose the property which makes it suitable for

Material B to be used in the making of windows. Give a reason for your

choice.

(1)

Page 21/ 34
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32. Look at the pictures of the animals below.

Animal A

Animals B Animal D
(a) Which animal is not an insect? | (1]
(b) Give two reasons {0 support your answer in (a) above. (2]

Page 22/ 34
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33. The amoeba is a tiny, colourless, jellyike, single-cetted animal. The amoeba
reproduces by splitting its nucleus into half as shown in the pictures below.

Stage 5

(a) The process of spiitting a cell to produce two new celis is called cell
division. The nucleus found in each amoeba at the end of each splitting
has two important functions. State one of the functions of the nucleus. [1)

(b) How many cells would be produced from a single ‘parent’ cell after five
stages of cell division? [1]

Page 23/ 34



34.

In addition to reproducing by seeds, many piants are able to produce new
plants asexually without pollination or fertilization. Look at the diagram below
which shows new plants being produced as a result of asexual reproduction.

. ‘} '
\Y/
ﬁ, "l\

U GO

Ground level

Nodes

(a) Circle two new plants shown in the diagram.

(b) The new plants are being produced from the

on the underground stem.

Page 24/ 34
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35.  Study the family tree below.

attachad earlobes

dimples attached earlobes

dirmples attached earlobes dimples attached earlobes

male

O female

(a) Susan has attached eariobes like her paternal grandfather, Peter.
Where would you place Susan and Peter in the above family tree?

Werite their names in the correct box or circle. [1]

(b) Susan's male cousin has dimples. Who could he have inhented this
trait from? (1)

Page 25/ 34
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36. Sharon covered a jar tightly with a piece of plastic wrap so that no air couid
enter or leave it. The 2 diagrams below show what she observed.

plastic
jar ——= ™

Bl v

W ) P

Jar at room temperature Jar afer being heated

(a) What can she predict about the mass of air in the jar when it was heated?

(1]

Sharon carried out another experiment using ice this time. Study the set-up
befow.

plastic

Ice

scales z

Jar at room temperature

{b) What would the reading on the weighing scale be afer 10 minutes? {1

(c) Give a reason for your answer in (b). (1]

Peje 1‘/30
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37. The diagram below shows a water cycle.

/ water \

o ! water
“CU"A Q ‘ vapour [

\ e

‘/
™ clouds
(@) What does Q represent? (1]
Q:

(b) Mark an 'X' on the water cycle to show where condensation will take
place “J i

(c) Why is the water cycle important? (2)
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38. Below is a classification table on circuits.

Buibs it up o A
8uibs in
paralie]
Buibs not —— B8
ht up
Batteries
N sers
Bulbs It up c
|
Buibs in
% ""'———"——'
Bulbs not D
. lit up
Circuits
\ /4 Bulbs kit up E
Bulds In ]
senes
——\ Bulbs not »{ F
It up
Batieries
in parafiel
] Bulbs ikt up G
Butbs in—_l!
parallel |
B8ulbs not H
It up

Using the information given, match the four circuits shown below with the
correct letter. (2]

fi

—ii

Ecaser
— @

(i) Circuit (i) Circuit __- (ii)Circuit (iv)Circuit
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39. On Planet Raffles, the atmosphere is made up of three main gases, namely P,
Q and R. Two creatures native to Planet Raffles were captured and kept
separately in two similar chambers (A and B) where changes in the composition
of the atmosphere could be measured over a penod of 24 hours. The results
are shown in the table below.

Gas | % of gas in % of gas in the % of gas in the
atmosphere in both | exhaled air from exhaled air from
chambers A and B creature 1 in chamber | creature 2 in chamber
with no creatures in | A after 24 hours B after 24 hours
24 hours

P 20 25 15
Q 20 15 25
R 60 60 55
(@) If now the two creatures were kept in the same room for 24 hours, what
do vou think will happen to the composition of gas Q in the room? (11
(b) Explain your answer in (a). (1 -

40. Systems are made up of parts which work together. The table below describes
2 systems found in the human body.

!r System | ______ Features

! X { Made up of thick bands which usually work in pairs

i Y All parts are connected and come in different shapes
and sizes 5

i
1
1
13

i

Both Systems X and Y work together to enable movement of the human body.
[dentify Systems X and Y.

System X : (1]

System Y (1)

PYye ).i/zw



41,

(a) Vincent conducted an experiment to determine the force required to puil a

block of wood across four different surfaces. The set-up of his experiment
is shown below.

Spring balance

Surface Force Required (N) |
A 8 "
B 22
| C 15 :‘
| D 20 1

Arrange the above surfaces beginning with the one with the |east friction

to the one with the most friction by filling in the letters (A, B, C, D) in the
boxes below.

(1.

Least friction

> Most friction

(b) Friction plays an important part in our daily life. State one advantage and
one disadvantage that friction has on the foliowing. (2]

A cyclist riding a bicycile on the road

Advantage:

Disadvantage:
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42. (a) The diagram below shows a simple machine called gears.

(i) Which gear(s) will rotate 4 imes as fast as Gear X?

Gear(s) :

(1]

(ii) If gear X turns clockwise, which gear(s) will turn in an anti-clockwise

direction?

Gear(s):

1l

(b) A group of students carried out the following expernment using the pulley
system shown below. They applied a force over different distances to lift
a load. They recorded the results as shown in the tabie below.

i

Results of the experiment.

[ Bistance moved by the effor

Distan—ée"mb-xg_(_i by the load

___Becm 35cm o -
| .. 15cm _ gem
20 cm 10 cm o

From the results, what pattern did they notice about the cistance moved by
the effort and the distance moved by the load? 1]

Page 31/ 34
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43. (a) The diagram below shows a bar magnet. When its end “A” is brought close
to a compass as shown below, the north-seeking pole of the compass

needie moves away.

sy | AN Y S8

The magnet is then broken in the middie into two pieces, P and Q, as

shown below,
7
i AP XY sY Q 8

What will happen to the compass needle when end “Y” s brought close to it
as shown below? g, (1]

EAREN
r c-:.—':"ID-M: . § Y Q B

(b) JThe diagram below shows an iron nail suspended from an equal distance
etween two electromagnet set-ups, A and B. The batteries and iron rods
used are identical.

SO S LI LS S22

\T': )mm?—jy\

:r/'-
1ron (ods .
A 8
(i) When both electric circuits are closed at the same time, what will
happen to the iron nail? (1]
(i) Explain your answer given in part (1). (i]
PYe 12/ 1y
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44. The diagram below shows the basic parts of a parachute.

~—————— string kne
L
A group of students carried out an expenment to investigate the effectiveness

of various parachute designs and recorded their indings as shown in the table
below.

Not tvwe Some Some Some
Trial Material Diameter Length Time to
used in of material of string fall
canopy used for lines 10m

canopy (cm) (cm) (seconds)
1 tigsue paper 20 30 25
2 tissue paper 30 30 30
3 tissue paper 30 40 28
4 cotton 1 20 30 20
5 cotton ' 20 30 18
6 cotton 30 30 28
7 plastic 20 40 23
8 plastic 30 40 28
S plastic 30 30 30

(a) Based on the above table, which 3 trials can the students use to make a
fair test comparison? (1]

Tnals , and

(b) The parachute is released from the top of a building Write down the
energy conversion of the parachute in the boxes provided. (1

[
|

Sound energy

A

top of the building ground

Page 33/ 34
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45. The diagram below shows some food being burnt in air.

- : 2 § I ‘.

q a -:! 1 }‘l — l Il ]l’ v — >
! TR Lo -
white o ;:onmrct
i copper g v .~ topu p
—— ~
foo ;«.ulp_hatc‘ ” limewater
burning HrMing turmng milky
in i_):ue _
y showing
flames that
water s
produced
(a) Respirationtis like the burming of food in air.
Besides water, what are the other two products of respiraticn ?
(b) Besides food, name one thing that is needed in the 2 processes. {1)

46. A bimetailic strip is made up of two different metal strips welded or riveted

together. The diagram below shows an electric circuit which uses a bimetallic
strip. Brass expands more than invar when heated.

- lamp - |mg‘=;rass} bimetallic strip
. ’
S U S — heating coi
switch battery

Study the diagram carefully. Describe what would happen to the lamp when the
switch is switched on for 15 minutes. (11

Sefters: Chrislina Lim End of paper
Tng Jiew Kim
Cheng Kim Hong
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